
















оборот
рентабельность= 100%

количество активов

0 0( ) *100%
Z

r r r
A

  

 0

1 1
r r r

Z A
    

0

1
y

Z


 0 0 0

1
y r r r

A
    

ƒ



0 0 0 0 0 0( ) 0–  r y r r y r y  

0 0( ) 0.–  r r y 

 ƒn

0 0 00 ; 0, .r r r r r   

0 0 00 ; и 0r r r r r   

(1 ) ( )ƒ 1 ƒu ry cury nry u cu n ry      



 0 0,r r

 ƒn

ƒ

ƒ

       
0[ ] 0, 1y

ao авm E U r y P Uax G PU G    

 ƒ

 ƒ

     0 0 0 0

0

(1 ) 1 1 (1 ) 0ƒ
U

p u r r r p u r b cu n r r
y


                  

 ƒ  ƒ



0
1

u kp
r r

rp






.ƒ(1 )k u c n  





∆= r–r0 ∆= r–r0 ∆= r–r0



$

$



авG

$
авG

$

авG

авG

авG

$
авG



 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


